XYZ,=109.84 ,99.99 , 35.58

2

8= a, [ (x=x) /)
bz bylz/y
=1, byy=-04
X, = 0,110, B, = 2,500
Crg=[AF+BA
6 OstwaldFarben (o)
von maximalem (m)C,,
linearen Farbenraum Cpg Y) 4

4
Liehtart ADO. ¥,,=100 ¥,=50 I,
Name Bereich X,

R, 579_77504.03 7158 17.84 “ssetl 026k obs 1950

¥4 504,775 107 28,04 1899 0.4761 04371 561 474

G, 504579 67.31 76.55 18.97 0.4133 04701547 547c
CJ380.579 700 7856 3557 03801 0.4266.499 605

B 380,504 57.72 521 3443 04001 03612474 561

V579 504 97,62 7359 3445 0.4746 03576 5470547
Wy380775 109 26.99 3555 04475 0.4074 100%

N2 380.775 54.92 4999 1779 0.4475 04074 50%

74 380.775 1977 1799 6404475 0.4074 18%

Parameter:

Y & Name
Lichtart AOO
Y,,=100 Y,=50
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